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21 5 1 2 13
14- 4 26.0 6.8 7. 59.

48 15 2 i 3 20 3

15+ 4 30.9| 4.6| 14.1] 7. 41. AR L (1 8%)
32 13 2 1 16
13- 9 41. 4 8.8| 2. A7.

18 1 2 15
15+ 4 6.7| 10. 82.

18 2 1 m |

it 4 (17.5%)

15+ 4 11.4] 5. 65.

16 0 1 2 13
15- 4 3.7 6.7| 11. 78.

24 1 1 2 |
1310 4.7 3. 90. HERTO (0. 8%)
20 0 1 0 19

13+ 2 3.1| 6.1 2 87.

20 2 1 17
14- 5 11.4| 6. 82.

18 1 1 16
14-10 8.3 4. 87.
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Frog Tk fE| M | 1 |13-10 | R
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— 116 —

_ E%gﬂﬁimﬂuméﬂ(J:E&“E%Jﬁ%ﬂh?ﬁ%%%—i%) s 2 2 oo i
I‘;:}gﬁ 8 B N P #t S s
18 0 1 17
13- 4 4.0 4.5 91.5
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26 1 2 23
14+ 3 6.7| 8.1 85. 2
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15+ 4 7.8 5.1 87.1
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FAtn 1 (1.4%)
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25 10 4 2 9
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26 1 2 3 20
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26 3 1 2 1 1 18
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14 4 12.8| 1.4| 6.2 3.6 4.4 71.6
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5.4 | m B m
18 0 18
13+ 4 3.7 96. 3
18 0 1 2 15
15- 2 2.2 6.4 7.9 83.5
18 1 1 16
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13- 4 3.4 4.4 92.2
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20 20
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